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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJXML� SHQJDUXK� UDVLR� � KXWDQJ�� SURILW�

PDUJLQ�� GDQ� XNXUDQ� SHUXVDKDDQ� WHUKDGDS� ILQDQFLDO� GLVWUHVV�� 3HQHOLWLDQ� LQL�

WHUJRORQJ� SHQHOLWLDQ� NDXVDWLI�� 3RSXODVL� GDODP� SHQHOLWLDQ� LQL� DGDODK� SHUXVDKDDQ�

VHNWRU� XWDPD \DQJ� WHUGDIWDU� GL� %XUVD� (IHN� ,QGRQHVLD� WDKXQ� ����������� 7HNQLN�

SHQJXPSXODQ� VDPSHO� GDODP� SHQHOLWLDQ� LQL� PHQJJXQDNDQ� PHWRGH� SXUSRVLYH�

VDPSOLQJ�� PDND� GLGDSDW �� SHUXVDKDDQ� VHEDJDL� VDPSHO� SHQHOLWLDQ�� 9DULDEHO�

ILQDQFLDO� GLVWUHVV GLXNXU� PHQJJXQDNDQ� PRGHO� =PLMHZVN\� 6FRUH�� YDULDEHO� � UDVLR��

KXWDQJ�GLXNXU�GHQJDQ�GHEW�WR�WRWDO�DVHW��YDULDEHO�SURILW�PDUJLQ�GLXNXU�GHQJDQ�QHW�

SURILW�PDUJLQ�GDQ�YDULDEHO�XNXUDQ�SHUXVDKDDQ GLXNXU�GHQJDQ�ORJ�WRWDO�DVHW��-HQLV�

GDWD� \DQJ� GLJXQDNDQ� DGDODK� GDWD� VHNXQGHU� \DQJ� GLSHUROHK� GDUL� ZZZ�LG[�FR�LG�

0HWRGH�DQDOLVLV�\DQJ�GLJXQDNDQ�DGDODK�DQDOLVLV�UHJUHVL�SDQHO��

+DVLO� GDUL� SHQHOLWLDQ� LQL� PHQXQMXNNDQ� EDKZD� UDVLR� KXWDQJ� EHUSHQJDUXK�

SRVLWLI� GDQ� VLJQLILNDQ� WHUKDGDS� ILQDQFLDO� GLVWUHVV�� SURILW� PDUJLQ� EHUSHQJDUXK�

QHJDWLI� GDQ� VLJQLILNDQ� WHUKDGDS� ILQDQFLDO� GLVWUHVV�� GDQ� XNXUDQ� SHUXVDKDDQ�

EHUSHQJDUXK�QHJDWLI�GDQ�VLJQLILNDQ�WHUKDGDS�ILQDQFLDO�GLVWUHVV�

.DWD�.XQFL���)LQDQFLDO�'LVWUHVV��5DVLR��+XWDQJ��3URILW�0DUJLQ� 8NXUDQ
3HUXVDKDDQ


